A5-b1-F AN-Y2EH) BR#EER BEXRO

BaGHE
£ B
(=37 EEAR
i sIN
8:30 =
9:00 H15VA[20 4] - BRRD:RAEE
9:20 <FHE>

AN-YDEZELfE
AR-YHEFOEZ L EE[90

7]

- AR—YDE L HE
<HF§>
ARV EFDESL EER

- BERAN-YOF EREE R F EfER

10 50

LEBAR-VRIEDESH

<iH@E>
- ZEHARN-VIRIEDEE

F AN=VICBSEY BERI R

[90 73] <HF>
-URVER
- RGREER T RDIRNE
12220 | B&-AE <60 9>
13:20 <HE>
=5-v7
BEOTOrA (EHERERBEICHIIZII1I -3V DEER

J1ZTHIDAR—YF5E[90 4]

<HPFI>

B RECADEIEE

ACP-shBEANMD ACP




EBNIEIET ANI

14 : 50 <FH@>
FBEEDEFTLEE
-FUIBLUT-FE
[60 %]
I-FOFVETININRIAVE
15 : 50 Questionl
FEEPZOREE L AR-YDERATE RO TAFT
BDTLLID |
IN-79-9 Question2
[90 4] [FEBPZOREZEDNAR-VDEFHICKDZILELE

A AR-Y D EFDOIREE L. CORBEZEIZIEIOD,

(ED&IBIEEEITRBINED) |

17:20 |IRRY (RERER) [30 )

17 : 50 -EIREE: GRE) Feomn &
H19VA[20 4]
BB BAAR—Y D ERNMER
18:10 |#&7T

A5-b1-F AR-Y2EH) BR#EES AEXRQ

JSPO REPERFAEDZFELRE

XERGHLE
® B

== EEAR
F093 1

8:30 =

9:00 159120 4] - BREEDRAEE




9:20 <H@>
AR=YDEZEL(E - AR—YDE L AME
A=Y D EROEZEER[0 | <FF>
73] AR-YDEFOEREER
- BARAR-Y A EEEEEEE - B8R
10 : 50 <@ >
R AR—YEREDIEEE
REBAR-YERIEOESNE » A=Y BEY BERIF ARG
[90 4] <HPF>
-URVER
- RERIBRATADIRAE
12220 | B&-A# <60 >
13 : 20 < $h@ >
U-F-oy7
(SRERREEIC TR 11T -VIvDEEY
BEQIOtA
<HP>
J1ZTEADAR-YEE[90 4]
B-RECADEIEE
- ACP-%hZH#EN'GMD ACP
SEBNEIET AMI
M50 imRy (aEst®) [304)
15 : 20 -ERER ) FTORN F
1159 [20 5]
XEERE BARAR-Y D EFHERL
15:40 |#&7T




A5-b1-F (AR-Y2EH) BRHEER BEXRO

M 3 FEICAVIIVEBETEDXFBBE

BERGHE
iS22 J093 0% EEREAR
15 : 00 =
15220 5199202 04) ERER E) FTOMN %
15 50 Questionl
[ FEBPZOREH L. AR—YDEFCAZRHTART
D TLLINY |
Question2
1], — —_ N
TV=TT-T0908] |1z pevzomesn. AK-ysER-RHEILERE
A ARN=YDEFDIFEE L. EOFRBERIEESOD,
(EDEHIBIEEE(CHRENED) |
17 1 20 o







